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Part A and B      

 :  X              :80 

                                                                                : 3.15 . 

------------------------------------------------------------------------------- 

 : 

i. . 

ii. Part-A       . 

iii. Part  -  B   Part  -  A   

 . 

iv. Part - A  3 Section .  

v.  Section .  

Part - A                                                                    

                                    : 60 

Section-I 

   6 X 2 = 12   

 :   

i.     , - .   

ii.  3 . 

iii.   2 . 

 -  

 
1. 220  284 . . . . . .      

.  

2. A = {x:x2
 = 25  6x = 15}   ? ?   

.   

3. kx2
– 3x + 1     1  k  . 



4.    27    182    . 

5. 3   4   . 50,  5   3 

  . 54,       

 . 

6. (1, 5), (2, 3)  (–2, –1)   ? ? . 

 -  

7. 5, 6, 9, 6, 12, 3, 6, 11, 6  7   . 

8. tan   sin   . 

9.  (4)    ( ) 72,    ( ) 

78      ( ) 80   

.      ( )  . 

10.    8 .    3  .      

.        ? 

11.            

. 

12.          

. 

Section-II 

4 X 4 = 16   

 :  

i.    

ii.    4  . 

 

13.    ,    , 

  .   .  

(i)3x + 2y = 5     (ii) 2x– 3y = 5   

           2x– 3y = 7        4x– 6y = 15.  

 



14.   10   52  16   82   32   

.  

15. A (3, 2), B (–2,–3)  C  (2,  3)    ?.    

    . 

16. x2
 + 5x + 6      ,     

  .  

17.       .   

 6 . .  4 . .      

? (  = 3.14  ). 

18. Sec  + tan = p  sin   p  .  

19.   52           

(i)    (ii)   (iii)    (iv)   

    . 

20.         .  

 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 

 20 24 40 36 20 

     . 

Section-III 

   4 X 8 = 32   

 :   
i.     , - .   

ii.  2 . 

iii.   8 . 
 

 –  

21.  p(x) = x2
–  6x + 9     ( )      

  . 

22. 3 + 5     . 



23.  3   7    6    8  

  16   . 

24. A (2, –2)  B (–7, 4)       

. 

 –  

 

25. 5 . .   ,       60
0 

  

 . 

26.      14 . .   21 .. .   

(i)  (ii)  (iii)   (iv)  

. 

27.    60   28.5  x  y  

. 

 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 

 5 x 20 15 y 5 

28. 30         , 

    30
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 60
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 ,   
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Part - B 
: 30 .                                                        : 20 

------------------------------------------------------------------------------------------------------------------------------------------ 
 :   

i.     . 

ii.      ,   

 (A/B/C/D)   . 

iii.   1 . 

iv. ,         . 

 

1.               [       ] 

A)  

  
B)  

 

C) 8 
 

 

D) 0.04 

2. 2x3
 – 5x2

 – 14x + 8           [        ] 

A) – 4 B) 4 C) – 7 D) 2.5 

3.            [        ] 

A) 2x + y– 5 = 0 ; 3x– 2y– 4 = 0        

B) 3x + 4y = 3 ; 6x + 8y = 4 

C) x + 2y = 3 ; 2x + 4y = 5                    

D) x + 2y– 30 = 0 ; 3x + 6y + 60 = 0 

4.  n   tn = a + (n - 1)d  d         [        ] 

A)   

B)   

C)   

D) 

5. 3             [        ] 

A) 30 B) 20 C) 29 D) 31 



6. (0, 0), (3, 0)  ( 0, 3)                [        ] 

A) (0, 0) B) (1, 1) C) (2, 0) D) (0, 4) 

7. (2, –5)  ( –2,  9)       [        ] 

A) (0, 0) B) (2, –2) C) (–5, 9) D) (0, 2)  

8.   x2
 + x + 1 = 0                                          [        ]

A) 2 B) – 3 C) 3 D) – 2 

9.                                         [         ] 

A) (1, 2), (1, 3),(1, 4) 

B) (5, 1), (6, 1), (7, 1) 

C) (0, 0), (–1, 0), (2,0)  

D) (1, 2), (2, 3), (3, 4) 

10.  30
0 

                                        [         ] 

A) 1 B)  C) 3 D)  

11. (cos , 0 )  ( 0, sin  )                              [         ]

A) 1 B) -1 C) 0 D) 2 

12. 30     42  .       

                                                                     [         ] 

A) 40 B) 42 C) 45 D) 28 

13.               

                                                                       [         ] 

A)  B)  C)  D)  

14.              [          ]  

A)      1 : 1 

B)        2 : 1 

C)        2 : 1 

D)     3 : 1 

15. sin 30
0
 + cos 60

0 
           [          ] 

A) 1 B) 0 C) -1 D) 2 



16. 1, 2, 3, 4, .  .  .  .  .  .  .  15      4    

             [          ]  

A)  B)  C)  D) 5 

 

17. “   ”   .  “   ”  

 .   “    0  1  ”  

 .        .  [         ] 

A)  

B)  

C)  

D)  

18.  100            [         ] 

A) 55 B) 505 C) 5050 D) 5500  

19. PQR  Q =90
0 

 PQ = 5 . ., PR = 13 . .   QR =  [         ] 

A) 11.2 . . 

B) 9.6  . . 

C) 12  . . 

D) 10.2  . . 

20. ABCD    AB + CD =    [         ] 

A) AC + BD 

B) AD + BC 

C) AB + AD 

D) AC + BD + BC 

 

 

 


